Activities/
Resources
for
Unit VII:
Algebra & Geometry |l



Lines, Angles and Triangles

I Keep in mind...
If at first you succeed, try something harder.

Lines and Angles

Identify the following using symbaols.

A G —_— ' »
1,'\3\) 4.\ 7. @ 2
D H
¢—0

2'./ 5, R T
I J K \'

c

3. 6. L 9. «o—eo>

10. Choose the oppfopnd’re symbols, (—, — or ) to make this statement
frue. LB contains points M and V, but LB contains neither M nor V. V
belongs to LB but M does not. ML + LV = MV

11. Make a sketch showing the position of the four points in number 10.
12. Is M between L and B?

13. Is L between M and B?
14. Is V between L and B?
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Triangles

Keep in mind...
The only ideas that will work for you
are the ones you put to work.

Included Sides and Angles

—

The side opposite «Pis
The angle included by APand [Als . #1-3
The side included by ~Pand ~Lis .
The side included by #A and zARBis .
The angles opposite BR are and

The angle included by RBand KBis .

The side opposite KRB is . B
A

#4-7

N O o 0N~

=

8. In ABET, the side opposite ,E is g
9. In ASAT, the angle included by AT and TS is .
#8-10 v 10. The segment included by #A and £STA is :

S 1 B

A
11. The side opposite /MTH is .

12. The side included by ZAHT and #HATis .
13. The angle included by AX and TXis .

14. The angles opposite AT are , , and
15. In AAXM, the side opposite /M is .

16. The segment included by 4MXH and zMHX is .
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Graphing Inequalities on a Number Line

Graph on a number line.

1) x>2 “— : : j : : :
4

v

-3 -2 -1 0 1 2

2) x<-1 <« : : : : ; : >
—4 -3 -2 -1 0 1 2

3) 3>x < : : : : : : >
-3 -2 -1 0 1 2

4) -4<x < : : : ; i ; >
—4 -3 -2 -1 0 1 2

5) -2<x<3 <« = : | : i : : >
-4 -3 -2 -1 0 1 2

6) -3<x<1 <«

v

7) 0<x<4 <«

Solve for the variable and graph the solution on a number line.

8) 5x+5<3x+9

9) 2(4x+1)=x-6

10) 2x>5x—-6

11) -2(x+1)<5x-23

Il

v

T 1 T T —7
—4 -3 -2 -1 0 1 2 3 4
& Il Il 1 Il | 1 Il 1 Il N
< T T T T T T T T ?
—4 -3 -2 -1 0 1 2 3 4
<« I | I I I ] | I N
< T T T T T 1 T T 7
—4 -3 -2 -1 0 1 2 3 4
<« I | I I I ] | I N
< T T T T T 1 T T 7
—4 -3 -2 -1 0 1 2 3 4



Answers

1) <! | I I ! N . .
< 1 T T T A\ ' ' H—>
—4 -3 -2 -1 0 1 2 3 4
2) « : 9 : : : : : : >
—4 -3 -2 -1 0 1 2 3 4
3) < : : . : ' D : : >
—4 -3 -2 -1 0 1 2 3 4
4 Y@ : : ; i ; i = ; >
—4 -3 -2 -1 0 1 2 3 4
5) < D : . : . D | ! >
—4 -3 -2 -1 0 1 2 3 4
6) N ' : : | : i | : >
—4 -3 -2 -1 0 1 2 3 4
7) < : : o ; : ; & : >
—4 -3 -2 -1 0 1 2 3 4
8) x<2 < : . ' ' (D : : : >
-3 -2 -1 0 1 2 3 4
9) X > -/t : ; ' i : i } : >
—4 -3 -2 -1 0 1 2 3 4
10) x<2 <= ' : ' . D : i : >
—4 -3 -2 -1 0 1 2 3 4
11) x>3 <+ : : : : i @ ' >
—4 -3 -2 -1 0 1 2 3
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Pythagorean Theorem

Find the missing length.

1. 2. 12
C
3 5
(0
4
3 5 4
T/
C
10 C
3
5 6.
o
C 2 \/E
(1 A\
B
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7. a
L]
7
9.
b 25
1\
24
11.
a
-
2

10
[ [
b
10.
11
J3
-
b
12. a
[ ]
2 J15
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ANSWERS:

1. 5 2
6. 3 7
11. /29

12.

8.
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